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Figura 3.1:
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Figura 4.1: ,
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P" Es" n(Es)" E0" Emin" Ppred(Es/1)"
119# 10# 4# 2.9# 3# 213#
…# …# …# …# …#
373# 10# 8# 6.6# 7# 598#
398# 9# 1# 7.0# 8# 4452#
…# …# …# …# …#

1385% 9% 10% 6.1% 7% 2196%
1472# 8# 1# 6.3# 7# 33096#
…# …# …# …# …#

5821% 8% 11% 5.4% 6% 10793%
5909# 7# 1# 5.3# 6# 240872#
6694# 7# 2# 5.0# 6# 86523#
7370# 7# 3# 4.8# 5# 57276#
7379# 7# 4# 4.6# 5# 39759#
7745# 7# 5# 4.5# 5# 33454#
9215# 7# 6# 4.4# 5# 31589#
13434% 7% 7% 4.5% 5% 40357%
15777# 6# 1# 4.4# 5# 2320334#
86072# 6# 2# 4.8# 5# 79708643#
93334# 6# 3# 4.6# 5# 9680801#
176968# 6# 4# 4.7# 5# 26144392#
177629% 6% 5% 4.6% 5% 10482130%
189562% 5% 1% 4.1% 5%
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Figura 6.1:
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